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301 gt L= 17,000 13,600 3,400
| 11,900
Al 5,100
01 A3l EE E 56l = 11,400 11,400 0
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Al 3,420
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Al 64,980
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OESOEd/ =2 1,900
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SYUHYXAHAI FAXHHBAEX 174,770 145,354 29,416
= 122,336
o=t 26,217
Al 26,217
301 et A= 174,770 145,354 29,416
= 122,336
o 26,217
Al 26,217
01 AISIE & A %52 174,770 145,354 29,416
OoolsZgY XNFAXMN Heg2 N 174,770
= 122,336
&< 26,217
Al 26,217
IS g N 16,680 15,480 1,200
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OOSSIE +Rtthsl &AL
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O0l=d Tus M B4k
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307 2iz2to| A 12,600 11,400 1,200
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DIZFSHAFALE B X 1,667 1,667 0
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=} 2,400
Al 9,600
QlutgE A= 12,000 12, 0
= 2,400
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11 J|EtE A S 12,000 12, 0
oolsd/g =¢ A 12,000
= 2,400
Al 9,600
ol XN&d 12,000 10, 2,000
o= 4,800
Al 7,200
ot A= 12,000 10, 2,000
o= 4,800
Al 7,200
ALS B & AN 462 12,000 10, 2,000
Ogxsx=st=2 AH 1,000,000& * 12%H 12,000
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Al 7,200
= s (¥EE & 300,600 286, 14,400
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Al 90, 180
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== 210,420
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Al 90,180
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< 6,480
Al 9,720
et A= 16,200 18, A 1,800
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Al 9,720
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OXZotsdH 2EA¥ 3 sAFA+=E
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301 LA Z 141,120 144,000 22,880
01 Ml28HE 6= 141,120 144,000 A2,880
Oo0tsS=AlHl XN (XNYotsHEH AZF) FIHA
2 5003 = 9809 = 288Y 141,120
Ots24 XN (THIEX) 3,267,000 3,272,000 25,000
= 1,301,400
Al 1,965,600
301 et A= 3,267,000 3,272,000 A5,000
< 1,301,400
Al 1,965,600
01 AR 2Z A 53 3,267,000 3,272,000 25,000
Oots=AlHl X (AT, L&E) 2,184,000
= 218,400
Al 1,965,600
OotsZAlHl XA (IS, ES5Y) 1,083,000
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01 At 22l 15,060 10,060 5,000
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OO0tssti AN W=
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- &Il £Xdl 11,0008 * 500 5,500
-AEZ2 5,500& = 1,200 = 12E 79,200
s N 5,042,400 5,042,400 0
301 et 8= 5,042,400 5,042,400 0
01 MEI2BZE 405z 5,042,400 5,042,400 0
OAlMotol & Ots 2F=E X3
100,000& = 3,750 * 12& 4,500,000
OAUTHOLOI &F OtOIALY 22 2eldl XI&
20,0003 * 2,260 * 12& 542,400
Ol 0lg& A XI& 71,800 51,800 20,000
201 ¢er24| 1,800 1,800 0
03 A2 Z Hl 1,800 1,800 0
Ooegold 2 &=+ M= 55,0002 = 2004 1,100
oolglolg 2&3& M 10,000& * 700K 700
307 21201 A 70,000 50,000 20,000
04 DIZHHALALSE E X 70,000 50,000 20,000
Oogolg A XI& 70,000
NS ACHZ X3 ALY 3,500 3,500 0
201 ¢4 3,000 3,000 0
01 At 2t 2l 3,000 3,000 0
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301 et d = 500 500 0
09 SAAHIEA S 500 500 0
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= 260,345
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Al 2,560,506
Ots=EXAE 29 & 2,280,000 2,107,831 172,169
307 glz2tol & 2,280,000 2,107,831 172,169
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O0ts=XAE 298 XA 2,184,000
OAHOls delxlizdl XI&
200,000 = 4098 = 128 96,000
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< 81,900
Al 81,900
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= 56,817
< 34,091
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= 203,528
< 61,058
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307 gl2tol & 407,056 337,904 69, 152
= 203,528
< 61,058
Al 142,470
10 AL SXAIEEE2EHEX 407,056 337,904 69,152
O0lsEsd=20/2 234l X 407,056
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Al 985,790
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= 931,203
< 372,481
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Al 558,722
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Al 132,430
307 21201 A 244,500 238,700 5,800
< 112,070
Al 132,430
10 ALSISEXAIEEE2GHEX 244,500 238,700 5,800
OXNY0otsdH SAA==E 193,600
< 96,800
Al 96,800
OXYotsdy detetyl XI& 50,900
< 15,270
Al 35,630
ANEotsHE 298 XS (M) 134,640 34,560 100,080
307 glz2+ol & 134,640 34,560 100, 080
10 M Z2XNANEHI2IHE=X 134,640 34,560 100,080
OXNYots4dEH =3 2494l 98,400
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OXGotsdH SALA HIH&HI 36,240
SE+==28d A& 60,528 104,616 A 44,088
= 30,264
< 12,106
Al 18,158
307 gl2tol & 60,528 104,616 A 44,088
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< 12,106
Al 18,158
10 M3 SXNANEHI2IHEX 60,528 104,616 AN 44,088
ONFE 2 S+2Ny 294 U 60,528
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Al 41,040
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< 67,200
Al 100,800
101 14l 336,000 336,000 0
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Al 100,800
M4 D12t ZE2EXNEES 336,000 336,000 0
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Al 84,204
- O0IsSSXN WAL ALSIEE JI22E=S 29,850
= 14,925
< 5,970
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Al 27
CEAERE Ot X& 274,764 304,764 /30,000
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04 JIZHHZ22XRHEE S 144,891 116,524 28,367
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-LERE
1,720,0009 » 1/12 = 594 * 128 8,600
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~A2tel S
12,500& = 15A12t = 5H = 12& 11,250
= 11,250
-0l 120,000& = 53 » 123 7,200
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= 1,650
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= 6,000
207 A RO 700 700 0
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201 ¢er24| 4,640 4,640 0
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Al 1,603
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Al 1,603
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= 2,290
< 687
Al 1,603
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= 7,280
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J| 36,846
< 18,422
Al 18,422

S 8=y dgs 29X8 73,688 70,045 3,643
J| 36,844
= 18,422
Al 18,422

307 glz2+ol & 73,688 70,045 3,643
J| 36,844
& 18,422
Al 18,422

10 ALSISEXAIEEE2EHEX 73,688 70,045 3,643
Od=g4ga 29 73,688
J| 36,844
< 18,422
Al 18,422

SESENHA g, sl=s2=20Y 7,000 7,000 0
J| 4,900
< 1,050
Al 1,050
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SH: E0IS D
Y e=XET
|

Sl e S SREED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2

307 2Iz2to| & 7,000 7,000 0
9] 4,900
& 1,050
Al 1,050

11T AISIEXAIEEX 7,000 7,000 0
Od=ZHIolA X232 T2 ) 7,000
J| 4,900
< 1,050
Al 1,050

SAZSEIo A 22| ,2H8dl X 5,277 5,619 N\ 342
p] 3,694
= 1,583

307 giztol A 5,277 5,619 A\ 342
J| 3,694
& 1,583

o1 s R=Hl 5,277 5,619 N 342
OSd=ZHTIoHA 22 H|,2t8H] A& 5,277
J| 3,694
= 1,583

JIEZEE Dol A RnE¥EXNsZ2HE 29 14,286 14,286 0
J| 10,000
o= 2,143
Al 2,143

307 212t0| ™ 14,286 14,286 0]
J| 10,000
o 2,143
Al 2,143

11 A EXAIEEX 14,286 14,286 0
OJIEZ4Y Jlol At nAEXsTz)dH 29 14,286
J| 10,000
& 2,143
Al 2,143

HEZHZUABEANAE SAAN =S 47,350 53,050 A5,700
= 23,675
Al 23,675

307 2izto| A 47,350 53,050 A5,700
= 23,675
Al 23,675

11T A EXAIEEX 47,350 53,050 A5,700
OHEESAIE SAX OF2t=E& 10,950
& 5,475
Al 5,475
OWEESAIE SAMI =& 36,400
& 18,200
Al 18,200

OHAERBAML MeA 2AXA(THEE) 50,000 52,000 ~2,000
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2N
X ZH -
L= B

el

- - _ L3
CEE O (BA) - HRAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
= 15,000
Al 35,000
307 2iz2to| A 50,000 52,000 A 2,000
= 15,000
Al 35,000
10 MM SAANEEHESIGHEX 50,000 52,000 A 2,000
Ool2taedhs 29 50,000
- otsIIS A HEH 50,000
& 15,000
Al 35,000
HAESAL ASA ST (KM KHK) 19,000 0 19,000
307 2Iz2t0| A 19,000 0 19,000
10 M3 SXNANEEHESIGHEX 19,000 0 19,000
OQI2taEA 29 19,000
- AdRotsIIIESAHHEH 19,000
SO AEZE2EXE 7,000 7,000 0]
o=} 2,100
Al 4,900
307 212t0| & 7,000 7,000 0
= 2,100
Al 4,900
11 A EXAIEEX 7,000 7,000 0
OHOHO - HAEZEZ2EAY 7,000
= 2,100
Al 4,900
SHHHMXFANIeH 5 8,310 8,310 0
201 LBt 910 910 0
01 AP 22| H| 910 910 0
OOLSOI&oHE XIioity 5o &A%
70,000& = 13¥ = 13| 910
307 2Iz2t0| & 7,400 7,400 0
11T A EXAIEEX 7,400 7,400 0
onrsXzos 249 7,400
OlsHdetE X9y 7,240 7,240 0
= 3,620
& 1,810
Al 1,810
307 giztol A 7,240 7,240 0
= 3,620
& 1,810
Al 1,810
11T AISIEXAIEEX 7,240 7,240 0
O0lsHHEtEXEAN 2H 7,240
= 3,620
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AR GRS N S
3 dd=Nsd
el g3 d 2 AN (22 &d)

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Oy - JIxFFIY HF A
70,000& = 7H « 33l 1,470
Oy - JI=x235 dst 82 U=
1,000,000 * 43| 4,000
ooty e AX| 630,000 * 14042 8,820
OstR2IIE d#=X F2us MAX HH
1,000& = 1002 = 12& 1,200
OBIERIE =TS 220 BALY
400,000& * 33 1,200
02 2524l 1,452 0 1,452
Oorale BlM A
5,500 * 22004 * 128 1,452
03 &AL Z I 15,000 0 15,000
OWAZRSIEA MAE &ZA 15,000
203 YR =&l 5,000 5,000 0
03 A HFAHRFX 5,000 5,000 0
Oy - JIIFRSEA =8 2R FAH| 5,000
QU XNE2F 739,628 776,092 A 36,464
= 532,014
< 71,644
Al 135,970
306 42 369,814 368, 169 1,645
= 266,007
< 35,822
Al 67,985
01 &3 369,814 368, 169 1,645
OZHASEHLEMLEH 29 369,814
= 266,007
< 35,822
Al 67,985
307 21201 A 369,814 407,923 A 38,109
= 266,007
< 35,822
Al 67,985
02 It S AIHE L 369,814 407,923 238,109
OZHHEMLEH 29 369,814
= 266,007
< 35,822
Al 67,985
YHESF2E 2 (T 5,500 5,500 0
= 2,200
Al 3,300
307 glz2tol & 5,500 5,500 0
< 2,200
Al 3,300
11T M 2XAIS EX 5,500 5,500 0
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fAM: dots
M Hd=2XSsd
thel: stR2ItE X (&)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
301 gt L= 10,000 16,000 26,000
01 MI2ZE+5l= 10,000 16,000 A 6,000
ORNESANE Bt HEEXHZ 10,000
307 glz2tol & 270,000 259,518 10,482
10 ALSISEXAIEEE2EHEX 270,000 259,518 10,482
ORXNESAE 22l 23l 270,000
HAE 82208 X 978,600 970,000 8,600
< 293,580
Al 685,020
301 L2 A3 978,600 970,000 8,600
= 293,580
Al 685,020
01 Al EE H =56l = 978,600 970,000 8,600
OMAS St2EIHE Y A= 800,000
< 240,000
Al 560,000
OMAS S22IHF MEXE2 60,000
< 18,000
Al 42,000
OMAS St2EIHE AP=d| 30,000
< 9,000
Al 21,000
OMAS 822ItE A2 22l 7,000
< 2,100
Al 4,900
OMAs 822 &2tE LS 81,600
= 24,480
Al 57,120
MEEXZ XA (SHRI2IE) 11,000 8,000 3,000
| 8,800
< 1,100
Al 1,100
307 glz2tol & 11,000 8,000 3,000
| 8,800
< 1,100
Al 1,100
11T ASI S XA E = 11,000 8,000 3,000
OStREZINE=EXNANE LaX HEE2xF 11,000
| 8,800
< 1,100
Al 1,100
SHRR2ItE wWsH X3 30,000 150,000 A 120,000
< 9,000
Al 21,000
301 LptR &3 30,000 150,000 120,000
< 9,000
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2N HE0LS
Ha: e =X

|
ool BRRIS

=]

Ol

X
X

U

|2 (el:de)

SA-3H-S(3AH) - MRAS - BES Off &t 24

=

M
2Hm
==
£l
Ol
0y

Al 21,000

RSESES B 30,000 150,000 A 120,000
SL2E UH wsH| 30,000

9,000
21,000

= N

02l 2 0I=220t=F Tt& N 125,600 97,560 28,040
= 37,680
Al 87,920

301 LEE A= 125,600 97,560 28,040

= 37,680
Al 87,920

01 M2 X 03 125,600 97,560 28,040
& 2 A, M2 22 X& 20,000

6,000
14,000

= M

200,000& » 63 = 3¥ 3,600
1,080
Al 2,520
Ollel! XH M&82 X 102,000
30,600
71,400

H

= H

AE dAXt &4 -8 X (SHR2IHE) 3,116 2,927 189
1,558
779
779

= N H

307 glztol & 3,116 2,927 189
1,558
779
779

= H W

BN 3,116 2,927 189
3,116

1,558
779
779

Ju H
=
>_
X
i)
B>
b
0z
oo
ﬂ
)l
-
o

= M W

ANE JIsEZ XN (SR2INESXAE) 20,169 19,800 369
10,084
5,042
5,043

= N W

402 BI2HX=01 M 20,169 19,800 369
10,084
5,042
5,043

= W

EQIFSPUE=D! 20,169 19,800 369
[AIE JIs=22Hl 20,169
= 10,084
= 5,042
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M HE0tS

=]

M Hd=2XSsd
el StR20tE KA (=& J)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
| A 5003
SIRENESANANE SAL =Y 10,400 0 10,400
< 5,200
Al 5,200
307 gl2tol & 10,400 0 10,400
< 5,200
Al 5,200
11 ALS S RAEE = 10,400 0 10,400
ORZ2IIEFXAE SAR = 10,400
< 5,200
Al 5,200
OlsZ=Hl KNI (SHR2IHE) 1,200,000 1,150,000 50,000
| 960,000
< 120,000
Al 120,000
301 L2 A Z 1,200,000 1,150,000 50,000
| 960,000
= 120,000
Al 120,000
01 MEIBEE 2063 1,200,000 1,150,000 50,000
Oots2=sdl XN& 1,200,000
| 960,000
< 120,000
Al 120,000
FIt OIS S XA (SRE2IHF) 20,000 23,000 A 3,000
J| 16,000
< 2,000
Al 2,000
301 L2 Az 20,000 23,000 A 3,000
| 16,000
< 2,000
Al 2,000
01 Al EE H =56l = 20,000 23,000 A 3,000
OFJt ots2 =4l XA 20,000
| 16,000
< 2,000
Al 2,000
OlSUSH(ZE0M SsEH )N (SRILIIE) 30,000 79,000 A 49,000
| 24,000
= 3,000
Al 3,000
301 LtE L= 30,000 79,000 A 49,000
| 24,000
< 3,000
Al 3,000
01 MEIBZE 05z 30,000 79,000 A 49,000
OOtsusEH(Z0M s=23H) XA 30,000
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2A: d40ts
HIM: HHASASA
¢ SR20E X (chel & 9l)
(o
SA BB (SH) - NRAY - B Ol &F o4 %@ﬁ HRE2
Pl 24,000
& 3,000
Al 3,000
OFSY=H XN (HAdsED) 24,000 25,000 A 1,000
J| 19,200
= 1,440
Al 3,360
301 Bt A= 24,000 25,000 A 1,000
J| 19,200
o= 1,440
Al 3,360
01 Al E & A 462 24,000 25,000 A 1,000
Oo0ls 2= 24,000
J| 19,200
=} 1,440
Al 3,360
HE DA &&H XN (HAEERED) 3,080 3,080 0
J| 2,464
= 185
Al 431
301 et A= 3,080 3,080 0
J| 2,464
& 185
Al 431
01 Al B & X 46 2 3,080 3,080 0
OZE DA s 3,080
J| 2,464
= 185
Al 431
Aesdag N (HAEEIER) 2,400 1,200 1,200
Dl 1,920
= 144
Al 336
301 et A= 2,400 1,200 1,200
J| 1,920
= 144
Al 336
01 AISIE & A %52 2,400 1,200 1,200
OXgees slxd 2,400
J| 1,920
= 144
Al 336
CESIEE2XNSE 829,907 704,974 124,933
J| 328,230
& 90,383
Al 411,294
ChEsits X& 829,907 704,974 124,933
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el
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SN FH-SA(EN) - MBAY - BES

Off &t 24

=

i
2m

ol I

328,230
90,383
411,204

24208 & UE230tE NEWE 23

Jl

= M

163,134
81,567
24,470
57,097

1562,

770

10,364

307 21201 &

Jl

2l

Al

163,134
81,567
24,470
57,097

1562,

770

10,364

[m]

05 8l

2+

1o

2
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:

OU=aNEXNFEH 2

y

= N
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81,567
24,470
57,097
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770
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a
Ho
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(REHITH &)
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70,

000

AT7,000

N
2
ne
s
Mo
02
[

15,000

30,

000

A 15,000

U
o

H0
HO 08

O
=
m

02
OH
00
fo
oy

15,000
15,000

30,

000

A 15,000

401 AIEHIZ 2 I

32,000

32,000

01 A€ dl
OUZ2stHega cl2ad

Ot ==ItEX & HE CCTV £ X

32,000
30,000
2,000

32,000

405 TH&HHSH

16,000

40,

000

A 24,000

16,000
6,000
10,000

40,

000

A 24,000

J|

Al

191,700
134,190
17,253
40,257

191,

700

307 glztol &

=z Hn ¥

191,700
134,190
17,253
40,257

191

,700

Ot=2ztE gdEzusAMdlA X

Jl

= M

191,700

191,700
134,190
17,253
40,257

191,

700

Ct23otE Atell2tel X

Jl

H

Al

28,500
19,950
2,565
5,085

28,

500
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AN 6dotsn
M O2HE=XSH
el OE3ots K& (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
307 glz2tol & 28,500 28,500 0
J| 19,950
< 2,565
Al 5,985
05 RIZIRI & 3 28,500 28,500 0
OUZs&ItE Atedl2el XI& 28,500
J| 19,950
= 2,565
Al 5,985
=20 s 2% 22,162 22,162 0
J| 15,514
< 1,994
Al 4,654
307 21201 A 22,162 22,162 0
J| 15,514
< 1,994
Al 4,654
05 RIZt2IEt = 22,162 22,162 0
Osgt=0 u= 22,162
J| 15,514
< 1,994
Al 4,654
Z2E0/2X SBIAANHA XA 34,464 35,364 A 900
J| 24,125
< 3,102
Al 7,237
307 21201 A 34,464 35,364 A 900
J| 24,125
< 3,102
Al 7,237
05 BIZHRI & 3 34,464 35,364 A 900
OZ=0|12X SHA AMHIA 34,464
J| 24,125
< 3,102
Al 7,237
O23ts Hdge XN& 58,911 59,628 AT17
J| 41,238
< 5,302
Al 12,371
307 glz2+ol & 58,911 59,628 AT17
J| 41,238
= 5,302
Al 12,371
05 RIZt2E = 58,911 59,628 AT17
OtUEsitE Xt odoged XA 58,911
J| 41,238
< 5,302
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2N

& ots

HEM: 2IIIIE=EXNSE
¢ O23ts X CEE-ED
- _ _ RE]
SA BB (SH) - NRAY - B Ol &F o4 ﬁ}lgﬁ HRE2
| Al 12,371
Ol &8 =4 16,636 16,250 386
9] 11,646
== 1,497
Al 3,493
307 2Iz2t0| A 16,636 16,250 386
J| 11,646
o 1,497
Al 3,493
05 QIZtR &2 16,636 16,250 386
O0lEZAN JIESSHEXTLEAY 16,636
J| 11,646
= 1,497
Al 3,493
23 JIEXE ALY (01 THSA) 92,000 92,000 0
& 34,200
Al 57,800
201 et | 42,000 42,000 0
= 12,600
Al 29,400
01 AP 2t 2] H| 42,000 42,000 0
OWMEZ=0I0X |00 ZAI=E X & 42,000
== 12,600
Al 29,400
307 212t0| & 50,000 50,000 0
o 21,600
Al 28,400
05 QIZtR E 2 50,000 50,000 0
OWHZ=0|2X H= HESZ ALY 5,000
& 1,500
Al 3,500
OUESINEXNE SAIMAIY 20,000
= 10,000
Al 10,000
OUSSIINEXNIALEH SAR =< 13,000
& 6,500
Al 6,500
OWAEZE=0I0X UESSIIISXNIANE QEHUNE 12,000
= 3,600
Al 8,400
CI23 =X AP (M) 29,400 36,600 AT,200
201 et 4,600 11,800 AT,200
01 AR 22l ] 1,000 8,200 NT,200
OU=s&d s22 H& 1,000
02 ZZ 2l 3,600 3,600 0
O&= U2 Al 893 3| 3,600

_46_




2M: H80tS
M USSIHESKSA
@2 U23IE XN (&2 &)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
202 (4] 1,400 1,400 0
01 2L Y] 1,400 1,400 0
OUSINEXNA =X oYl 1,400
301 dEtE A= 1,400 1,400 0
09 HAIAH EA=S 1,400 1,400 0
OZE0|12H2A(MOIL) RnESEAX 24 1,400
307 QI2t0| ™ 22,000 22,000 0
05 A2t E = 22,000 22,000 0
OXNZE HEol oseEd 29 12,000
OtE3Its ER2uURAY 10,000
CI2SIIIEXN MY AEE 2 50,000 0 50,000
307 QI2t0| ™ 50,000 0 50,000
05 0I2t2 &2 50,000 0 50,000
OUSINEXNIALMEH HEE 29 50,000
=0l FUXE X3 AL 80,000 0 80,000
101 2124 d| 80,000 0 80,000
04 JI2ZtHI22 NS E 80,000 0 80,000
=0l FOTE HE2 KX T A 21 24| 80,000
-20 25,000 * 8H 323 » 10042 64,000
-28= 8,320
-S| 3,000& * 8Y = 323 * 1004 & 7,680
HHSHAH (WL 0ots ) 446,612 406,809 39,803
Dl 30,885
& 9,000
Al 406,727
ol 2 AHY| 316,682 280,783 35,899
Jl 30,885
& 9,000
Al 276,797
ol 2AH| 128,962 107,133 21,829
101 @121l 128,962 107,133 21,829
02 JIEt& 2% 128,962 107,133 21,829
OFAEEZ52E oAl 37,542
-20 1,703,840& = 12& 20,447
-J| &G 1,703,840 = 48] = 1/2 3,408
- HZAH| 130,000& * 12& 1,560
- nNEEXH| 100,000& * 128 1,200
- Y EF Il 1,703,840& = 23] = 1/2 1,704
= Jt A XI & I 1,703,840 = 53] = 1/2 4,260
- A X2 A 50,000& = 7 350
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2M: H80tS
HM: H¥2HAH (HLE0ls D)
chel: ol 2y (S &2)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
—ANZ2UAZ 2L 12,2208 * 20A12F » 128 2,933
-IEY 80,000& * 12& 960
-&Jl2s54 60,0008 * 12& 720
OFFAEA o1 AHYH| 71,420
-20 1,520,000& * 2% * 12& 36,480
-J|Z4 1,520,000 = 43 = 2% % 1/2 6,080
- dHZAH| 130,000& * 29 x 12& 3,120
- nsS2 Xt 100,0008 * 29 x 128 2,400
- Y EF Il
1,520,000 * 23] = 2% = 1/2 3,040
= JbAHI X & Y]
1,520,000 * 23 * 53| = 1/2 7,600
— D2 Al 50,000& = 2 = 7Y 700
S EEL
11,0003 * 2% = 15A12F = 128 3,960
-&l25+E 65,000 * 2  12&€ 1,560
-IEsxY 100,000& = 128 1,200
-0 Y BAILT SAY)
7,000& * 29 » 10 = 12& 1,680
-8 150,000& * 29 x 12& 3,600
OFAEANESAMA EHZB 20,000
A SAY(EAENMNESIMHEH)(JISEX) 81,040 82,650 N 1,610
J| 30,885
Al 50,155
101 @1 21| 81,040 82,650 N 1,610
J| 30,885
Al 50,155
02 JIEA 2 %= 81,040 82,650 A 1,610
OSEXNIE o1AHH| 81,040
-20 1,500,000& * 2% x 12& 36,000
Dl 14,400
Al 21,600
-J| 2 1,500,0008 * 43 » 2% x 1/2 6,000
Dl 2,400
Al 3,600
- HHZAH| 130,0008 * 299 x 128 3,120
J| 1,248
Al 1,872
- nsE2XH| 100,000& » 29 x 12& 2,400
Dl 960
Al 1,440
- @& EIH|
1,500,000& * 23] » 2% « 1/2 3,000
Jl 1,200
Al 1,800
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fAM: dots
= HE2GFU(HL0ots D)
chel: ol gyl CEEEED
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
ST PR
1,500,000& * 29 = 53] = 1/2 7,500
| 3,000
Al 4,500
— GIJtE AHH| 50,0003 = 2% » 7 700
| 280
Al 420
L HEE RS
11,0003 = 2% = 15A12t = 128 3,960
| 1,584
Al 2,376
-¥J12s5sY 65,000& * 2% * 123 1,560
| 620
Al 940
-JtE=¢ 100,000& * 12& 1,200
| 480
Al 720
~0l2 Y FUA22R SAH
7,000& * 5% x 10 » 12& 4,200
| 153
Al 4,047
—ERF=& 0 150,000& = 5 = 123 9,000
| 3,600
Al 5,400
-2AE us &8I 24 2,400
| 960
Al 1,440
oA (HAHNSEXME)(THEE) 106,680 91,000 15,680
= 9,000
Al 97,680
101 14 dl 106,680 91,000 15,680
< 9,000
Al 97,680
02 JIEt R 2 106,680 91,000 15,680
O&aEg eyl 106,680
-= 1,700,000& » 3% » 12& 61,200
< 9,000
Al 52,200
-J|Z=g 1,700,000& * 45| = 3Y = 1/2 10,200
- Z AU gAY 130,000& = 3H = 12& 4,680
—u =l 100,000& = 2% » 12& 2,400
- Y EFOHl
1,700,000& * 23| * 3% = 1/2 5,100
= JHAI R &bl
1,700,0009 = 53 » 3¥ * 1/2 12,750
— HOtE &H| 50,0003 = 3H » 7« 1,050
b EE
12,000& = 3H = 15AI12H » 123 6,480
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